

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_a(x/a) = a \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = a \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_a(x/a) = \frac{u'(x/a,a)}{v^2(x/a)} - \frac{v'(x/a,a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/a) e^{x/a} + (1/a) e^{-x/a}] [e^{x/a} + e^{-x/a}] \quad (3)$$

$$v'u' = [(1/a) e^{x/a} - (1/a) e^{-x/a}] [e^{x/a} - e^{-x/a}] \quad (4)$$

$$u'v' = [1/a] \{ [e^{x/a}]^2 + 1 \} \quad (5)$$

$$v'u' = [1/a] \{ [e^{x/a}]^2 - 1 \} \quad (6)$$

$$F'_a(x/a) v(x/a) - v'(x/a) u(x/a) = 2/a \quad (7)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_a(x/a) = a \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = a \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_a(x/a) = \frac{u'(x/a,a)}{v^2(x/a)} - \frac{v'(x/a,a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/a) e^{x/a} + (1/a) e^{-x/a}] [e^{x/a} + e^{-x/a}] \quad (3)$$

$$v'u' = [(1/a) e^{x/a} - (1/a) e^{-x/a}] [e^{x/a} - e^{-x/a}] \quad (4)$$

$$u'v' = [1/a] \{ [e^{x/a}]^2 + 1 \} \quad (5)$$

$$v'u' = [1/a] \{ [e^{x/a}]^2 - 1 \} \quad (6)$$

$$F'_a(x/a) = 2 / [e^{x/a} + e^{-x/a}]^2 \quad (7)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_{ab}(x/a) = b \tanh(x/a) = b \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = b \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_{ab}(x/a) = b \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$F'_{ab}(x/a) = b \frac{v^2(x/a) - u^2(x/a)}{a v^2(x/a)} \quad (3)$$

$$F_{ab}(x/a) = \frac{4b}{a [e^{x/a} + e^{-x/a}]^2} = \frac{b}{a \cosh^2(x/a)} \quad (4)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_{abc}(x/a) = b \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = b \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_{abc}(x/a) = b \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/a) e^{x/a} + (1/a) e^{-x/a}] [e^{x/a} + e^{-x/a}] \quad (3)$$

$$v'u' = [(1/a) e^{x/a} - (1/a) e^{-x/a}] [e^{x/a} - e^{-x/a}] \quad (4)$$

$$u'(x/a) v(x/a) - v'(x/a) u(x/a) = 2 [1/a + 1/c] [e^{x/a} - e^{-x/a}] \quad (5)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_c(x/a) = c \frac{e^{-x/a} - e^{x/a}}{e^{x/a} + e^{-x/a}} = c \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_c(x/a) = c \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/c) e^{-x/a} + (1/c) e^{x/a}] [e^{-x/a} + e^{x/a}] \quad (3)$$

$$v'u' = [(1/c) e^{-x/a} - (1/c) e^{x/a}] [e^{-x/a} - e^{x/a}] \quad (4)$$

$$u'v' = [1/c] \{ [e^{-x/a}]^2 + 1 \} \quad (5)$$

$$v'u' = [1/c] \{ [e^{-x/a}]^2 - 1 \} \quad (6)$$

$$F'_c(x/a) v(x/a) - v'(x/a) u(x/a) = 2/c \quad (7)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_c(x/a) = c \frac{e^{-x/a} - e^{x/a}}{e^{x/a} + e^{-x/a}} = c \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_c(x/a) = c \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/c) e^{-x/a} + (1/c) e^{x/a}] [e^{-x/a} + e^{x/a}] \quad (3)$$

$$v'u' = [(1/c) e^{-x/a} - (1/c) e^{x/a}] [e^{-x/a} - e^{x/a}] \quad (4)$$

$$u'v' = [1/c] \{ [e^{-x/a}]^2 + 1 \} \quad (5)$$

$$v'u' = [1/c] \{ [e^{-x/a}]^2 - 1 \} \quad (6)$$

$$F'_c(x/a) = 2 / [e^{x/a} + e^{-x/a}]^2 \quad (7)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_{ab}(x/a) = b \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = b \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_{ab}(x/a) = b \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$F'_{ab}(x/a) = b \frac{v^2(x/a) - u^2(x/a)}{a v^2(x/a)} \quad (3)$$

$$F_{ab}(x/a) = \frac{4b}{a [e^{x/a} + e^{-x/a}]^2} = \frac{b}{a \cosh^2(x/a)} \quad (4)$$

Mathematical equations of hyperbolic functions

See: Handbook of Mathematical functions, NBS, USA, Sec. 4.5

$$F_{abc}(x/a) = b \frac{e^{x/a} - e^{-x/a}}{e^{x/a} + e^{-x/a}} = b \frac{u(x/a)}{v(x/a)} \quad (1)$$

$$F'_{abc}(x/a) = b \frac{u'(x/a)}{v^2(x/a)} - \frac{v'(x/a)}{v^2(x/a)} \frac{u(x/a)}{v(x/a)} \quad (2)$$

$$u'v' = [(1/a) e^{x/a} + (1/a) e^{-x/a}] [e^{x/a} + e^{-x/a}] \quad (3)$$

$$v'u' = [(1/a) e^{x/a} - (1/a) e^{-x/a}] [e^{x/a} - e^{-x/a}] \quad (4)$$

$$F'_{abc}(x/a) = 2 [1/a + 1/c] \frac{e^{x/a} - e^{-x/a}}{[e^{x/a} + e^{-x/a}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{ab}(x_r/a) = b \tanh(x_r/a) = b \frac{e^{x_r/a} - e^{-x_r/a}}{e^{x_r/a} + e^{-x_r/a}} = b \frac{u(x_r/a)}{v(x_r/a)} \quad (1)$$

$$dF_{ab}(x_r/a) = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/a} + e^{-x_r/a}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{ab}(x_r/a) = b \tanh(x_r/a) = b \frac{e^{x_r/a} - e^{-x_r/a}}{e^{x_r/a} + e^{-x_r/a}} = b \frac{u(x_r/a)}{v(x_r/a)} \quad (1)$$

$$dF_{ab}(x_r/a) = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/a} + e^{-x_r/a}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{ab}(x_r/a) = b \tanh(x_r/a) = b \frac{e^{x_r/a} - e^{-x_r/a}}{e^{x_r/a} + e^{-x_r/a}} = b \frac{u(x_r/a)}{v(x_r/a)} \quad (1)$$

$$dF_{ab}(x_r/a) = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/a} + e^{-x_r/a}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{ab}(x_r/a) = b \tanh(x_r/a) = b \frac{e^{x_r/a} - e^{-x_r/a}}{e^{x_r/a} + e^{-x_r/a}} = b \frac{u(x_r/a)}{v(x_r/a)} \quad (1)$$

$$dF_{ab}(x_r/a) = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} = \frac{4b}{dx_r} \frac{u(x_r/a)}{a [e^{x_r/a} + e^{-x_r/a}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/a} + e^{-x_r/a}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{cb}(x_r/c) = b \tanh(x_r/c) = b \frac{e^{x_r/c} - e^{-x_r/c}}{e^{x_r/c} + e^{-x_r/c}} = b \frac{u(x_r/c)}{v(x_r/c)} \quad (1)$$

$$dF_{cb}(x_r/c) = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/c} + e^{-x_r/c}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{cb}(x_r/c) = b \tanh(x_r/c) = b \frac{e^{x_r/c} - e^{-x_r/c}}{e^{x_r/c} + e^{-x_r/c}} = b \frac{u(x_r/c)}{v(x_r/c)} \quad (1)$$

$$dF_{cb}(x_r/c) = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/c} + e^{-x_r/c}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{cb}(x_r/c) = b \tanh(x_r/c) = b \frac{e^{x_r/c} - e^{-x_r/c}}{e^{x_r/c} + e^{-x_r/c}} = b \frac{u(x_r/c)}{v(x_r/c)} \quad (1)$$

$$dF_{cb}(x_r/c) = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/c} + e^{-x_r/c}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

Achromatic colour vision with relative luminance

Mathematical hyperbel and potential functions

$$F_{cb}(x_r/c) = b \tanh(x_r/c) = b \frac{e^{x_r/c} - e^{-x_r/c}}{e^{x_r/c} + e^{-x_r/c}} = b \frac{u(x_r/c)}{v(x_r/c)} \quad (1)$$

$$dF_{cb}(x_r/c) = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} = \frac{4b}{dx_r} \frac{u(x_r/c)}{c [e^{x_r/c} + e^{-x_r/c}]^2} \quad (2)$$

$$\frac{L}{dL} = \frac{4bm}{[e^{x_r/c} + e^{-x_r/c}]^2} \quad (3)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (4)$$

$$\frac{L}{dL} = \frac{4bm}{[L_r^2 + L_r^{-2}]^2} \quad (5)$$

TUB-test chart iei5; Colour vision model for normalized receptor responses $F_{a/c/ab/cb}(x_r)$
Derivations $F'_{a/c/ab/cb}(x_r)$ with hyperbolic functions $e^{x_r/a}$ and $e^{x_r/c}$ for contrast L_r and ΔL